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Status report

- Completing the study of the reference sensor
performance stability (LGA35)

- Calculate the time resolution of this sensor
- For all 2018 test beam campaigns

- Study the evolution of the time resolution as function of
time



Time resolution

- Extraction of the time resolution

- Calculate the time difference between the LGAD and the Silicon
Photomultiplier SIiPM

- Fit the resulting plot using a Gaussian fit
- Take the width as the resolution
- Jechnicalities

-+ Use the tuples stored on 0s here: /eos/atlas/atlascerngroupdisk/
det-hgtd/testbeam/HG TDPyAna/v00-15- 01/



April test beam
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